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Note: Ronwindsswic answers A, B, C and D to each question
aic yiven. The choice which you think is correct, fill that
circle in front of that question with Marker or Pen ink in
the answer-book. Cutting or filling two or more circles will
result in zero mark in that question.

~ EEE Which of the following is not a valid subsc:npt

(A) NUM (10) (B) A (2)
(C) B (4) (D) A’(-2)
Ed n medium resolution screen mode colors for foreground
are:
(A) 1 (B) 2
(C) 4 (D) 16
El FOR---NEXT is used to implement:
(A) lteration - (B) Selection
(C) Sequence (D) All of these

E] Dimension statement uses the keyword ——
(C) DI
B Wh|ch
W-BASIC :
(CLFAT 1D) F 1
W woyraphical error in BASIC statement are:
) Runtime errors  (B) Logical errors

(A) DMS

@@Eﬁf’t 4B K s
(A} F4
(C) Syntax errors (D) Execution errors

The technique “Divide and conquer” is used to solve:
(A) Simple problems (B) Complex problems
(C) Large problems (D) Complex and large problems
E] Press Ctrl + 2 keys for - spacing :

(A) Single (B) Double
(C) Triple (D) None of these
E) A file can be organized in the following ways :
(A) One way (B) Two ways
(C) Three ways (D) Four ways
EIJ Which of the following is a type declaration character for
integer:
(A) ! (B) %

(C)# - (D) $ B
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